Tuesday — Mr Gamble's group

1)
Can you write the missing numerators?

4 5
+ =
6 6 6
11 14
+ —

16 16 16

15 9
29 29 29

29 12
48 48 48




2) Complete the part-whole models

000060
Mo o6 6




3)

Complete the following:

—t—t—T—1
5 i 3 1
7 7 7 7
1213 1L 1 R S
9 9 9 9 9




4)

Follow the rule above each arrow to complete the fractions from start to finish.

19
118




ANSWERS

Can you write the missing numerators?

4 5
+ =
6 6 6
11 3 14
+ =

16 16 16

29 29 29




Complete the part-whole models

006086
Mo oe 00




Complete the following:

| I I |

I I
5 4 3 2 | 1
7 7 7 7 |7




Follow the rule above each arrow to complete the fractions from start to finish.

18
T
6
> —
55
19
118 e
——— —
118
117
+ —
731 319
‘. I

731




